

## AN INEQUALITY WITH MOMENTS FOR CONCAVE FUNCTIONS

DAN STEFAN MARINESCU<sup>1</sup>, CRISTINEL MORTICI<sup>2,3</sup>*Manuscript received: 19.01.2025; Accepted paper: 15.05.2025;**Published online: 30.06.2025.***Abstract.** *We prove some inequalities for moments related to concave functions.***Keywords:** *Concave functions; inequalities; moments.*

## 1. INTRODUCTION

The starting point of our work is the following inequality proposed in [1]:

**Theorem 1 (Daróczy).** Let  $f: [0,1] \rightarrow (0, \infty)$  be a concave function with  $f(0) = 1$ . Then:

$$\int_0^1 xf(x)dx \leq \frac{2}{3} \left( \int_0^1 f(x)dx \right)^2. \quad (1)$$

The inequality (1) is a particular case of the following result that can be found in [2]:

**Theorem 2.** If the boundary of a convex domain contains a segment of length 1, then the distance of the weight point of the domain from that segment is at most  $2/3$  times the area.

We prove in this work some inequalities for moments related to the inequality (1).

Let  $f: [0,1] \rightarrow \mathbb{R}$  be a function. If  $f$  is Riemann integrable, then for every non-negative integer  $n$ , the quantity defined and denoted by

$$M_n = \int_0^1 x^n f(x)dx$$

is called the moment of order  $n$  of the function  $f$ .

Recall also that  $f$  is named concave (respectively convex) if the following inequality holds true, for every  $x, y \in [0,1]$  and  $a \in [0,1]$ :

$$f(ax + (1-a)y) \geq (\leq) af(x) + (1-a)f(y).$$

<sup>1</sup> "Iancu de Hunedoara" College, 331078 Hunedoara, Romania. E-mail: [marinescuds@gmail.com](mailto:marinescuds@gmail.com).

<sup>2</sup> Valahia University of Targoviste, Faculty of Sciences and Arts, 130004 Targoviste, Romania.

<sup>3</sup> Academy of Romanian Scientists, 030167 Bucharest, Romania. E-mail: [cristinel.mortici@hotmail.com](mailto:cristinel.mortici@hotmail.com).

## 2. THE RESULTS

The main result is the following:

**Theorem 3.** Let  $f: [0,1] \rightarrow \mathbb{R}$  be concave (respectively convex). Then the following inequality holds true for every integer  $n \geq 0$ :

$$(n+3)M_{n+1} \leq (\geq)(n+2)M_n - \frac{f(0)}{(n+1)(n+2)}. \quad (2)$$

*Proof:* We will consider the case of a concave function  $f$ , only.

Let us take any numbers  $x \in (0,1]$  and  $t \in [0,x]$ . As  $\frac{t}{x} \in [0,1]$  and

$$t = \frac{t}{x} \cdot x + \left(1 - \frac{t}{x}\right) \cdot 0,$$

we obtain from the concavity of  $f$ :

$$f(t) \geq \frac{t}{x}f(x) + \left(1 - \frac{t}{x}\right)f(0).$$

By multiplying by  $t^n$ , we get:

$$t^n f(t) \geq \frac{f(x)}{x} \cdot t^{n+1} + t^n f(0) - \frac{t^{n+1}}{x} f(0).$$

By integration on  $[0,x]$ , we deduce:

$$F_n(x) := \int_0^x t^n f(t) dt \geq \frac{1}{n+2} f(x) x^{n+1} + \frac{f(0)}{(n+1)(n+2)} \cdot x^{n+1}. \quad (3)$$

This inequality is also true for  $x = 0$ . Since  $f$  is concave, the function  $F_n$  is continuous on  $[0,1]$  and derivable on  $(0,1)$ . By using the integration by parts method, we deduce:

$$M_{n+1} = \int_0^1 x^{n+1} f(x) dx = \int_0^1 x F_n'(x) dx = x F_n(x) \Big|_0^1 - \int_0^1 F_n(x) dx.$$

Thus

$$M_{n+1} = M_n - \int_0^1 F_n(x) dx.$$

By using (3), we obtain:

$$M_{n+1} \leq M_n - \frac{1}{n+2} \int_0^1 x^{n+1} f(x) dx - \frac{f(0)}{(n+1)(n+2)} \int_0^1 x^{n+1} dx,$$

or

$$(n+3)M_{n+1} \leq (n+2)M_n - \frac{f(0)}{(n+1)(n+2)},$$

which is the conclusion.

**Corollary 1.** Let  $f: [0,1] \rightarrow \mathbb{R}$  be concave (respectively convex). Then the following inequality holds true for every integer  $n \geq 0$ :

$$(n+2)M_n \leq (\geq) 2M_0 - \frac{n}{n+1}f(0).$$

*Proof:* By summing up the inequalities (2), we get:

$$(n+2)M_n \leq 2M_0 - f(0) \sum_{k=0}^{n-1} \frac{1}{(k+1)(k+2)} = 2M_0 - \frac{n}{n+1}f(0).$$

**Corollary 2.** Let  $f: [0,1] \rightarrow \mathbb{R}$  be concave (respectively convex), with  $f(0) > (<)0$ . Then the following inequality holds true for every integer  $n \geq 0$ :

$$M_n \leq (\geq) \frac{n+1}{n(n+2)f(0)} M_0^2.$$

*Proof:* By using Corollary 1, we deduce that:

$$M_n \leq \frac{2}{n+2} M_0 - \frac{n}{(n+1)(n+2)} f(0),$$

or

$$M_n \leq \frac{2}{(n+2)f(0)} \left( M_0 f(0) - \frac{f^2(0)n}{2n+2} \right).$$

Then, by using the arithmetic-geometric mean inequality, we get:

$$\frac{2n+2}{4n} M_0^2 + f^2(0) \cdot \frac{n}{2n+2} \geq M_0 f(0).$$

Finally, we deduce that

$$M_n \leq \frac{2}{(n+2)f(0)} \cdot \frac{2n+2}{4n} M_0^2,$$

or

$$M_n \leq \frac{n+1}{n(n+2)f(0)} M_0^2.$$

The proof is completed. If we take  $n = 1$  in Corollary 2, then we obtain inequality (1).

## REFERENCES

- [1] Szekely, G. J., *Contests in Higher Mathematics: Miklos Schweizer Competitions 1962-1991*, Problem Books in Mathematics, Springer, New York, 1995.
- [2] Yaglom, I. M., Boltianskii, V. I., *Convex Figures*, Translated by Paul J. Kelly and Lewis F. Walton, Reiner and Winston, Holt, 1961.